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E General Instructions:

* This guestion paper has five compulsory sections: A, B, C, D, and E.

* There is no overall choice in the paper.

* Section A comprises 4 Multiple Choice Questions of 1 mark each,

* Section B compnses 3 Very Short Answer Type Questions of 2 marks each
* Section C comprises 2 Short Answer Type O.uestmlns of3 marks each.
* Section D comprises 1 Long Answer Type Question of 5 marks.

* Section E has 1 Case Study Question, in which 2 Very Short Answer Type Quasrionsare of' _'irna;keach and 1 Short
Answer Type Question is of 2 marks. An intemal chorce is provided in the 2 rnarkq

Section A
Questions Nos. 1 to 4 carry 1 mark each.
0 a 1] . T
1. Givena skew-symmetric matrix A = [ 1 b 1|the value of (a+ b+ c)?is___
-1 ¢ ol
(b)2 (03 (CF3

2 'If 2' 3 1 is non-singular matrix and a € 4, thenthesetAis__




4x+2y+3z2=2,x+y+z=13x+y—2z=5

carry one mark ear.h Subpart {III} carries 2 marks and has an internal choice..

abik

a+pd a+qd a+rd
Evaluate: p q r
d d d
Section C

Questions Nos. 8 and 9 carry 3 marks each.

2 - =1 =810
'f[ LN 0']44_ = [ 1 -2 -5 ] then find A.

=35 4 9022 E
Maximise Z = 3x — 4y
Subject to the constraints:
x—-2y<0,
-3x+y=<4
X-y<6
tLy=20

Section D

Question No. 10 carries 5 marks.
.= e 3
Find A1, where 4 =12 1 1 |.Hence,solve the following system of equations:
3 1 -2
‘Section E
Question No.11isa Case Based Questlun that has three sub parts. Subparts [I) and (m are curnpu!sun; and

'He has only ® 5760 to invest and has

Suppose a dealer in a rural area wishes to sell several sewing machines.,
space for, at most, 20 items for storage. An electronic sewi ng machine costs him % 360, and manual}v
,-22 and a.

operated’se ing machine costs X 240. He can sell an.e[ectronic sewing machine at a profil

manuallv operated;sewing machine at a pmﬁt of x18.




